ILLUSTRATIVE EXAMPLE  -  NOTES

Concession terms

The terms of a concession require an operator to construct a road, completing the construction within two years, and maintain and operate the road to a specified standard for forty-eight years thereafter (i.e. years 3-50).  The terms of the concession also require the operator to incur the hand over costs at the end of the concession period.  At the end of year 50, the concession will come to its end. The operator estimates that the costs it will incur in fulfilling its obligations will be:

TABLE 1:

	
	YEAR
	CURRENCY

UNITS

	
	
	

	CONSTRUCTION (cost)
	1
	800.0

	
	2
	800.0

	CONCESSION RIGHT
	1
	2.5

	OPERATION & MAINTENANCE (per year)
	3-50
	Initially 5;

growth in line with inflation 

	HAND OVER COSTS
	80
	5% of the initial investment

	
	
	


Contract revenues

The operator has the right to operate and collect tolls from drivers/the grantor during the concession period.  The operator forecasts that vehicle numbers (average daily traffic–ADT) will increase at a rate of approximately 26 per cent per year in the first five years of the concession and at a rate of 3 per cent per year thereafter:

The "ramp up" effect in the early years of the concession is included because industry experts agree that, in the majority of toll road concessions, the growth in the usage of the road (the ADT) is higher in the early years, as users usually take several years to get used to paying for the use of the infrastructure and, as a consequence, to use the infrastructure.  In this example, for simplicity, the ramp up effect is concentrated in the first five years.  In practice it might be less steep and continue for longer than in the example, but the overall impact would be similar.
Tariffs are forecast in each model to increase by the forecast rate of inflation (2.5%).

Finance structuring

20 per cent of the initial investment will be funded by capital calls from shareholders. The remaining 80 per cent will be funded by a loan granted by credit institutions. The fixed interest rate on the loan is 5 per cent. The loan will be repaid over 40 years (years 3 to 42).

IFRIC's Exposure drafts: Intangible Asset Model (Spreadsheet AP2B)

This model would be applicable if the terms of the concession allowed the operator to collect tolls from drivers using the road.

Intangible asset

The operator provides construction services to the grantor in exchange for an intangible asset, i.e. a right to collect tolls from road-users in years 3-50.  In accordance with IAS 38, Intangible Assets, the operator recognises the intangible asset at cost, i.e. the fair value of the construction services.

The draft interpretations do not specify when the intangible asset should be recognised.  It could be recognised (a) from the outset (with a corresponding amount recognised in respect of the obligation to provide construction services in exchange); (b) as construction services are provided, by reference to the stage of completion; or (c) once construction has been completed.

For the purpose of this illustration, it is assumed that the operator receives the intangible asset as construction services are provided, by reference to the stage of completion.  The operator estimates that the fair value of its construction services is equal to the forecast construction costs + 5%.  It adopts the allowed alternative treatment in IAS 23 Borrowing Costs and capitalises qualifying finance expenses until the end of year 2.  The cost of the intangible asset recognised at that date comprises:
Table 2 - Initial measurement of the intangible asset
	
	CURRENCY

UNITS

	
	

	Fair value of construction in year 1 (800 CU + 5%)
	840.00

	Fair value of construction in year 2 (800 CU + 5%)
	840.00

	Pre-operating financial expenses
	80.13

	Concession right payment
	2.50

	
	1,762.63


In accordance with IAS 38, the intangible asset is amortised over the period in which it is expected to be available for use by the operator, i.e. years 3-50. 

Construction costs and revenue

The exchange of construction services for an intangible asset is regarded as a transaction that generates revenue. The operator recognises the revenue and costs in accordance with IAS 11, Construction Contracts, i.e. by reference to the stage of completion of the construction.  It measures contract revenue at the fair value of the consideration receivable.  Thus, in each of years 1 and 2 it recognizes in its income statement construction costs of 800 CU, construction revenue of 840 CU (cost +5%) and, hence, a construction profit of 40 CU.

Toll revenue

The road-users pay for the concession services at the same time as they receive them, i.e. when they use the road.  The operator therefore recognises toll revenue when it collects the tolls.

Hand over costs

The operator’s obligation to pay hand over costs is excluded from the consideration given for the intangible asset. It is recognised and measured in accordance with IAS 37 Provisions, Contingent Assets and Contingent Liabilities, i.e. at the best estimate of the expenditure required to settle the present obligation at the balance sheet date.  The operator expects to incur the hand over costs at a cost of 80 at the end of year 50.  The terms of the operator’s contractual obligation in this example are such that the cost of fulfilling the obligation at any date is proportional to the number of vehicles that have used the road by that date.  The operator discounts the provision to its present value in accordance with IAS 37.

Table 3 Income statement (in currency units) from the concession operator's point of view. The table below shows, for the operating period, cumulative data for each five year period:
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IFRIC's Exposure drafts: Financial Asset Model (Spreadsheet AP2A)

This model would be applicable if the terms of the concession required the grantor to pay the operator. In this example, the operator is assumed to be entitled to collect from the grantor an amount per year in years 3-50 for making the road available to the public.

Contract revenue

The operator recognises contract revenue and costs in accordance with IAS 11, Construction Contracts.  The costs of each activity, namely construction, operation, maintenance and resurfacing, are recognized as expenses by reference to the stage of completion of the related activity.  Contract revenue, i.e. the fair value of the amount due from the grantor for the activity undertaken, is recognised at the same time.

The total amounts receivable from the grantor reflect the fair values of each of the activities, which are as follows:

Table 4 – Fair values of the services provided by the operator

	
	Fair Value

	
	

	CONSTRUCTION (CAPEX)
	Forecast cost + 5%

	O&M
	Forecast cost + 20%

	HAND OVER COSTS
	Forecast cost + 20%

	LENDING RATE TO GRANTOR
	5.34% per year

	
	


In year 1, for example, construction costs of 800 CU, construction revenue of 840 CU (cost +5%) and, therefore, a construction profit of 40 CU are recognised in the income statement.

Financial asset

The operator determines that the amount due from the grantor meets the definition of a receivable in IAS 39 Financial Instruments: Recognition and Measurement.  The receivable is measured initially at fair value. It is subsequently measured at amortised cost.

If the cash flows and fair values remain the same as those forecast, the effective interest rate is 5.34% and the receivable recognised at the end of years 1-10 will be as follows:

Table 5 Measurement of receivable 
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1

2

3

4

5

6

7

8

9

10

Initial

0.00

842.50

1,727.48

1,808.20

1,888.83

1,967.07

2,040.30

2,105.61

2,171.76

2,238.63

CAPEX

840.00

840.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

O&M

0.00

0.00

6.48

6.64

6.81

6.98

7.15

7.33

7.51

7.70

HAND OVER

0.00

0.00

FIN. INCOME (effective interest rate on receivable)

0.00

44.98

92.23

96.54

100.85

105.02

108.93

112.42

115.95

119.52

COLLECTIONS FROM THE GRANTOR

2.50

0.00

(18.00)

(22.55)

(29.42)

(38.77)

(50.78)

(53.61)

(56.59)

(59.75)

Final

842.50

1,727.48

1,808.20

1,888.83

1,967.07

2,040.30

2,105.61

2,171.76

2,238.63

2,306.11


Table 6 Income statement (in currency units) from the point of view of the concession operator: 
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16-20

21-25

26-30

31-35

36-40

41-45

46-50

TOTAL

Operating revenues

1,699.93

36.68

41.50

46.95

53.12

60.10

68.00

76.94

87.05

194.49

2,364.77

Operating expenses

(1,616.61)

(30.57)

(34.58)

(39.13)

(44.27)

(50.09)

(56.67)

(64.12)

(72.54)

(82.07)

(2,090.64)

EBITDA

83.32

6.11

6.92

7.83

8.85

10.02

11.33

12.82

14.51

112.41

274.13

Amortization

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

EBIT

83.32

6.11

6.92

7.83

8.85

10.02

11.33

12.82

14.51

112.41

274.13

Hand over costs

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

(80.00)

(80.00)

Financial expenses (accrual)

(269.32)

(300.16)

(278.85)

(246.80)

(203.86)

(155.78)

(107.71)

(57.07)

(3.62)

0.01

(1,623.14)

Financial income (on receivable)

334.60

561.86

652.02

742.20

824.59

885.78

904.92

850.35

675.00

309.88

6,741.21

EBT 

148.61

267.82

380.09

503.22

629.59

740.02

808.55

806.11

685.89

342.31

5,312.21

TAX

(52.01)

(93.74)

(133.03)

(176.13)

(220.35)

(259.01)

(282.99)

(282.14)

(240.06)

(119.81)

(1,859.27)

NET INCOME

96.60

174.08

247.06

327.10

409.23

481.01

525.56

523.97

445.83

222.50

3,452.93

CUMULATIVE 


A comparative chart of the earnings before taxes (EBT) profile of this concession under the intangible and financial asset models would be as follows:
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Other considerations

The “Current Net Assets” caption in the balance sheet includes the net cash of the concession, as well as several accounts payable, such as taxes, trade creditors, interest expenses, etc.  It has been assumed that no interest is payable or receivable on net cash balances.

In addition, the example does not take into account any dividend payments. For this reason, the accumulated profits (losses) are included under the “Current Net Assets” caption in the balance sheet.
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